Solve the following differentials equations
1. sec’x tany dx + sec’y tanx dy = 0
2 y sec’x dx + (y+7) tanx dy = 0

dy ¥ x(2logx+1) 4.

% dx siny yeosy
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5. (XP-yx)dy + (y+xy')dx =0

Solve the homogeneous diff. Eq.

(x’+y’)dx — 3xy’dy = 0
Xdy + (y*xy)dx =0
(X*+xy-y’) dy + (2xy -3y*)dx =0

xdy — ydx = {/x2 + y2dx

0 x % =y(x+y)/2

et - e

1. (x*y)dx+2xydy=0

2 - 2
12 dy _ X" -xy+y%)

dx Xy
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dx 2Xxy

14 () E=xy

15. (x+ycotxly)dy—-ydx=0



Solve the Non-homogeneous diff. Eq.

Q _(2x=by+3)
dx (2x+4y-6)

17 (2x-y+1)dx+Q2y—x-1)dy=0

16.

d_y_ (6x - 4y +3)

18. dx (3x—2y+1)
19 dy (x+y+1)
’ dx (x+y-1)
0. d_y=(x+2y+1)
dx (2x+4y-6)
71 dy  (x+2y+3)
T dx  (2x+3y+4)
dy (y-x+1)
e R (y+x+5)
dy (2x-y+1)
23, dx (x+2y-3)
24 d_y 8 (4x -6y +3)

dx (6x—-9y-1)

Solve the exact diff. Eq.

25, (2xX*+3y)dx+(Bx+y-1)dy=0

d cosx+siny+
sq N JEORHEHPE

dx sinx+xcosy+x
27.  (X+yr-a)xdx+(xX*-y*-b)ydy=0
28. (1+e§)dx+[e$(1—x/y]dy=0
29.  (secx tanx tany - e) dx + secx sec’x dy =0
30. (X —4xy -2y dx+(y'—4xy +2x%) dy =0
3. (e'+1)cosxdx +¢’ sinxdy =0
32, (sinx cosy + e”) dx + (cosx siny + tany) dy = 0
33, [xyx2+y?-y]dx+[yJx?2+y2-x]dy=0

34.  [cosx tany + cos(x + y)] dx + [sinx sec’y + cos(x +y)] dy =0



Solve the Non-exact diff. Eq.

35.
36.
37.
38.
39.
40.
41.
42.
43.
44.
45.
46.

47.
48.
49.
50.
31.
52.
53.
54.
35
56.
37
58.
39.
60.

(x%y —2xy?) dx — (x* = 3x%y) dy =0

(x> - 5xy + 7y*) dx + (5x* — 7xy) dy =0

(xXy* +4xy +2) x dx — (x’y* + 5xy +2 ) ydy =0
(Bxy’ —y’) dx - (2xy - xy?) dy =0

(1 +xy)ydx+(1-xy)xdy=0

(xy sinxy + cosxy) ydx + (xy sinxy — cosxy) xdy = 0
y(xy + 1) dx + x(1 + xy + x’y*) dy =0

(xy +2x°y?) ydx + (xy - X’y*) xdy =0

(1/x+y) dx + (1/y-x) dy =0

(x'y* + X’y + xy) ydx + (x'y* - Xy + xy) xdy = 0
(x> +y?) dx —2xy dy =0

(x*y* + 2xy + 1) ydx + (x’y* - xy + 1) xdy = 0

(1 +xy)ydx +(1-xy)xdy=0

(xy® +y) dx + 2(x%y* + x+y)dy=0
(y*+2y) dx+ (xy’ +2y" - 4x) dy =0
(x-y)dx+2xydy=0

(3x*y* + 2xy) dx + (2x%y’ - x*) dy =0

Xy +y) dx + (2/3 x> + 4xy?) dy =0
(x*e* — 2mxy?) dx + 2mx’y dy = 0

X +y*+x)dx+xydy=0

(x> +y*+2x) dx + 2y dy =0

(x -y?) dx + 2xy dy =0

(X +xy)dx+2y° dy=0

(2y* +3xy —2y + 6x) dx + x(x + 2y - 1) dy =0
2y (x+y+2)dx+(y' —x"—4x-1)dy =0
(Ixly +y+2)dx + (x* + xy) x dy =0



Solve the Linear diff. Eq.

61.

62.

63.

64.

65.
66.

67.

68.

69.

70.

% —Py=g™*
%+x2y=x5
sinxg—i+3y=cotx
g—i+2xy+xy4=0

2 dy S,
3y o 2xy” = 4xe
(x’y - xy) dy = dx

dy _ 3 —x2
Xy-3.-ye
dy
e x(x* - 2y)

dy _ 2
L=@x+3y-7)

d . 2
COSX d—i’ + 2y sInx = sinx cosx



Solve the following diff. Eq. for x, y, p
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pP-5p+6=0
p—l/p=xly—-y/x
p(p +y) =x(xty)
p(p -y) =x(x+y)
pP-Tp+12=0
2y =ax/p +px
4y=x2+p2
3x—y+logp=0
y=2px+x2p4

y — 2px = f{xp’)

y =2px +p’y
p’—2xyp+4y* =0
y =3px +6y’p’
y=2px+y’p’
xyp’ + (x> +xy +y)p + x(x +y) =0
3x—y+logp=0
y=(1+p)x+p’
y” logy = xyp +p’

xp3=m+np



